Math 102 – Quiz #14 (7.2 – 7.5) 
Name ______________________________

1.
Perform the indicated operation and write your answers in reduced form.
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2.
Solve the following rational equations. 
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List all of the numbers from the set S that are in the following sets:


Counting numbers 
______________________________________


Whole numbers 
________________________________________


Integers 
______________________________________________


Rational numbers 
______________________________________


Irrational numbers 
______________________________________


Real Numbers 
__________________________________________

4.
Let 
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3,6,9,12,15
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.  Find the following.
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Answers.

1. 
a.
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Solution:  NO SOLUTION
Solutions:   6, –2
3.

Counting numbers:
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Whole numbers 
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Rational numbers 
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Irrational numbers 
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Real Numbers 
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4.
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